logAL =log|Lz - L1]| L =Iluminancia

|
escalado -

2 ' ' ' ' ' ' '
-2-1 0 1 2 3 4 5 x=logL

2-003130-LO0  2-003130-FO0 MS090-80, B4_08




logAL =log|Lz - L1]| L =Iluminancia

escalado -

2 ' ' ' ' ' ' '
-2-1 0 1 2 3 4 5 x=logL

2-013130-LO0  2-013130-FO0 MS090-81, B4_08




logAL =log|Lz - L1]| L =Iluminancia
Ar

3
24
1
0

al escalado 0

-2-1 0 1 2 3 4 5 x=logL

2-103130-LO0  2-103130-FO0 MS090-82, B4_08




logAL =log|Lz - L1]| L =Iluminancia
Ar

3
24
1
0

l escalado 0

-2-1 0 1 2 3 4 5 x=logL

2-113130-LO0  2-113130-FO0 MS090-83, B4_08




